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[4]DHIDHU, DHO

-070*
Ra0.4 0.01/100 1601101)
-20 70
DIN51524—535 1]
40 15~100mm/s (SOVG15-100)
ISO 19/16 25 Pm B =75
20 —+60 /WG -20 —+80 /PE
P A B 350bar
T DHI 120bar DHU DHO 210bar ,
/FI/INC /FI/NO T Sbar
Q/Ap
DHI/DHU  60l/min DHO 80l/min q]
4.1
IP-65
EN563 EN982 H 180
100
10 —+10
1
A= B
WP= DHO
L1,L2,L3= DHU DHO E-SA E-SE 4 4/8 L3
F*= E110
2 DIN43650 /
SP-666 =IP-65
SP-667= SP-666
SP-669 =
E-SA= DHI DHU
E-SE = DHI DHU
E-SR = 20
E-SD =
E-SA E-SE E-SR E-SD
3
-0/2 12 2/2 DH*-063*/2 DH*-070*/2 DH*-075*/2
-0,3 01 3/1
-1 4 5 1/1 4/8 5/1
-1 3 8 1/2 1P 3P 8P 1/2P
£ 10% @ DHI DHU
BDC SP-COU-6DTT80 SP-COU-6DCT80 1 60Hz
oDC SP-COU-9DC/80 SP-COU-9DC/80
i S CoUaonaS S COURTEheITo 10—~15 55VA
14DC SP-COU-14DC/10 SP-COUR-14DC/10
18DC SP-COU-18DC/80 SP-COU-18DC/80 2 .Y
24DC 33w SP-COU-24DC/10 SP-COUR-24DC/10
28DC P-COU-28DC/10 SP-COUR-28DC/10
48DC P-COU-48DC/80 SP-COU-48DC/80 3 1 / 1
110DC SP-666 P-COU-110DC/10___[SP-COUR-110DC/10
125DC P-COU-125DC/80___[sP-COU-125DC/80 (1H2) W ; ,
220DC SP-667 P-COU-220DC/10 ~COUR-220DCT10
24/50AC ’
SP-COI-24/50/60AC/80 (1)
o 2aio0AL 12%e  BA, 24k  3A,
48/60AC 6OVA SP-COI-48/50/60AC/80(1) 20w
DHU TL0/50AC (5) SP-COI-110/50/60AC/80(1)
120/60AC SP-COI-120/60AC/80 100ms
B0/50AC SP-COI-230/50/60AC/80(1) ’
ZB0/60AC SP-COI-230/60AC/80 4 , 110V
12DC SP-COU-6DC/80 SP-COU-6DC/80
24DC E-SE 7TW(3) SP-COU-12DC/10 SP-COUR-12DC/10 4.6A, 230Vac 2.3A,
110/50AC 67VA
PO/GOAC ESA GOVA SP-COU-24DC/80 SP-COUR-24DC/80 500VA, 40
2B0/50AC 67VA
Zoreonc @) SOVA SP-COU-48DC/80 SP-COU-48DC/80 ms,
1L0/50AC 40VA
DO/GOAG 600 35vA SP-COU-110RC/10 SP-COUR-110RC/10 5 , 3
28;2328 :2\/2 SP-COU-230RC/10 SP-COUR-230RC/10 150VA
£ 10% @) + 10% @)
2DC 0/50AC
DHO 328e SP-666 32w DHO T30R0ae 660 38w
110DC SP-667 230/50AC B 40W
220DC - aow 230/60AC 35w
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[I/min] [//min] [/min]
X= E-SA ESE 00/2,1,1/2,3,6,7,8 X= ESA E-SE 00/211/23678 M=0,11/28
5=0/2,3,6,7
M= 0,1,1/28 M= 0,1,1/2,8 V=22/2,*99*
5= 02,3,6,7 5= 02 3,6,7 =45
Y= E-SA ESE 2212, *99* Y= E-SA E-SE 2,2/2,x9,9%
V= 2212 ,*99* V= 2,2/2%9,9*
= 4,5 = 4.5
[9] ( ,m9
DHI DHU DHO
AC Y AC oc AC DC
Dr+ T,888 30 | % 20 DHU+5.856 %5 20 DHO+35-888 50 20
DHH SP-669 45 80 DHU+5P-669 45 80 DHO+SP-669 | 50 80
DHH E-SA 20 40 DHU-E-SA 20 40 DHO+ESR 50 50
DHI+ESR 30 45 50 DHU+ESR 45 50 DHO-*/L1 60 60
DHI+E-SE 0 40 DHU+E-SE 0 40 DHO-*/L2 80 80
DHU-*/L1 60 60 DHO-*/L3 150 | 150
DHU-*/L2 & 80
DHU-*/L3 110 150
36//min  150bar
T 2bar

50 150V G462
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(mm)
1SO4401-AB-03-4 6
M5 x50
o 108
P ABT 1@7.5mm @max)
DHI-06 DHI-07
o e, & -3
c il g & = 3l
2 5 i ' r |i \ i i
- - » [T &%
=5 at g ' -
) 1.5k
= x ¢
DHU-06 =
]
s o
(] | i
. . C
“ "t 1 | &n |
Tx 15k
= o
DHO-06 — l{IE o =
-E\—\_ E ﬂ a _-”=n :
. 25 ] —_— n‘:
| s Ey 1 | T L
Tx 1.9kg 1x 2.6kg
SP -666
DIN43650 /
SP-666 , SP-667 SP-669
E-SA AC
(AC DC ) E-SR/IDC DC
£-SD/DC *Cc ) E-SE DC E-SD/AC AC
\2s E-SR/IAC AC

(c )

SP-666 , SP-667 SP-669 -SA Vbe Ve
1= 12= T i Ve = 0 = 0 1,2= Vo
2= O 3 = E-SE = O = @)
@= - 0
= (@)
E-SR/IAC
1,2= V ac
3
4 = Voc
5 = Voc 5
spP-666 | SP-667 _|E-sp-DC] E-SA E-SE | SP-666
ACorDC 110/50AC 110/50AC |12DC 120C
24 120/60AC 120/60AC |24DC 24DC
110 230/50AC 230/50AC
230(220) 230/60AC 230/60AC
A,B,P,T A,B,P,T
.B.P, K
o (mm) ((3¢))
BA-202 AB,PT 3/8" 1.2
BA-204 P,T AB 3/8" 25.5 1.8
BA-302 A,B,PT 1/2" 30 1.8
4 M5x 50 K280
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